Soludions For Final Review

® \ensll\ = ath

e a3 b: _'1_
A co%6 sin®
* % b |
3 =3, ¥
cos® Sin®

Q' ~ 35“\6 - Yeos & _ ?sin’e-qws"e
cos & Sin'g ~ Sin‘em‘e =0
S0 Bsin?® -Yeos’O =0

S0 sin’E | > .
See " 1 o (tane) =3, w0 tas =y

So © = 4an(33) T 0.630%
0% :
0'("%) <0 \_::I—.._—'JP (%4) Yo
So this is a minfmum,

0( .010%) =[16-65
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dx
@ X = 200¢cos6 ¢ Q“

d 6_9517 700 \00
& _ 9004 eﬁ dt
A Sinet%_' X
¢ =(-200)(3) §2
-:-:—z s - %O = 'é?'a) So H is decreasiny
at 24c rad|s.
@ E?u“h'ogigbzsx x|:'| \I.zs'
. X AX=".0\ Ald"-'?'
- e 5In5S Ko7 99 Yo !
tﬂ'(l\ =5InS

ay & y'(Hax = (5Ma5)(-.0) = - 0905
So ‘j‘l,: 5-.0%0S = 4.4199.

(compare to actuul value S'“ = q.“I'LOl)
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@ im Fx): since x-190,x-1=x-|.

x=>\*
<0 F(x\= X""' - LX”)(’“”
X=l  x-
So lim, Flx) = 1+ =[2)

¢ liwm F(x): since x-l <0, |x-tl = =(x-1).
) & 1M

So F(X) = ~(x+l) = D

Since the one~scded limi}s aredifferent,
\x‘-“l F(x) does not excst.

@ NMethod 1: Method 2 -

¥ - xinx Y= =X
< |M‘ X L X

a(x)z(exlnx)(\nx+|) % Byt
=X (_\nx*l) (5‘: Xx(ld\x'ﬂ)

:Xf'

@ {x) s squeezed between x* and O
O ¢ f(x) € x¥ for all x.
A"’ 0,' |M\O"b Gn& 'lmx O,so

Y
ln_:‘u Hx\ =

Page 3


grigg
Typewritten Text
Page 3


	image009
	image010
	image011



